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Ans ?(1‘ m
X 2 s
X 3 3EA HR TFEER @ Tag
v HEA

Question ID : 98958011721
Status : Answered
Chosen Option : 4

Q.8 Fw 2018 &, ThT el BT T TEFR Toadell FI 0% e AT 0 Fofed o7 F

8 smmrz wmwmgmmmﬁ:@,msﬁrmﬁawm
Fr gfEAT, gAONT AT 2 FT Fg [EFPR ToT FHT oI

Ans 1 75 o@, 5 9®
K25 o, 2.5 9y
/<310 @, 5 &g

X 469G, 25 9@F

Question ID : 98958011737
Status : Answered
Chosen Option : 3

81883z dur o o seae e weafew REeree wed ol
v 2 FiE e
X3 s segtsl
K4 AT T

Question ID : 98958011713
Status : Not Answered
Chosen Option : --

Q.9 o7 I @ WY I AR TA F T v TR W AG-AE T AT Far § G § @ shar
0 momddomaiy?

e XK gheEr
X 2 ssda
X 3. SoIgEe (Jme)
4 o

Question ID : 98958011734
Status : Answered
Chosen Option : 4

L 9RE # =T FEeE i TUH AREET gEU S off |




X0 FAT O
X 2 wifear &
v Frer BT
K 4 3G HogT

Question ID : 98958011739
Status : Answered
Chosen Option : 2

’ g T Ghaw HeAtead #§ oRede aue &
/. TATS g
X2 siifas srgwm
X3 q@r
v 4 e

Question ID : 98958011727
Status : Answered
Chosen Option : 4

} fega-gese & @ fFwa & O
v . &Fg e surEes
X 2 g TFROT
X 3 JAFT Foleh
X 4 ATSHT WATE

Question ID : 98958011725
Status : Answered
Chosen Option : 4

Q.9 FHrwr wgw e 3R TR, Bt &4 AT = 5 Sl 2019 § F57 @ =T F wga

4 ferd 7 w1210 #iex o 97 # semre o o
PR
v 2
X 3 e H
/< 4. Hdeld
Question ID : 98958011753
Status : Answered
Chosen Option: 2
Q.9 31eTEY TENT TR UF AT § A 12 F SR $ TR @ oF 3% a0 W S

5 =% 9z & FEw ¥ Ay # oo B o d

X ﬁ!@;mﬁatr
v 2 E9RT
X 3 3reTemET




X 4. g

Question ID : 98958011710
Status : Answered
Chosen Option : 2

% e U My TaH F Aw@E i 87

e X usH TEAy
X2 T HT VST
V'3 T feTm
X 4 Ferr WY
Question ID : 98958011743
Status : Not Answered
Chosen Option : --
Q.9 dreEh ¥ e T BeEw F 3 SfeR F irEe F O oo 9g [ 2018 ¥
7 grmfeEa R e R

MK R AR o

v 2 FcOes wdIE
7 3. Tierer a{ﬁm
X 4 grEr enataTT

Question ID : 98958011740
Status : Not Answered
Chosen Option : --

Q.9 F==fr 2019 A, F eftesrarst & gerer BT B seEin SEeer # smvarha Rt o

8 HFFIOT R Haier Sum A = o &

X 2 s steRifdr deme- st
v o o steaRehr swa-agE
X+ s stefdr deme-Resh

Question ID : 98958011735
Status : Not Answered
Chosen Option : --

Y e § i el REw T HATIT ST 2

e K1 21 faaE
K2 9 mrElr
V'3 24 FEID
X 4 23 AT

Question ID : 98958011738




Status : Answered
Chosen Option : 3

Q1 o sk s, R w sufeew Rt 39 qeer i kst & drr ddomser
00 i et &1
Ans X1 '\qﬁm srme

v 2 Padae

2 mrEmeeE

X 4 aIEFaT FTerEeRTOT

Question ID : 98958011732
Status : Not Answered
Chosen Option : --

Q.1 7 264 Fr o= o0 AEET FR 12% F GE W 39T T W 4 AARA FA w1 BEE go7 =@ e
01

Ans  of 1. 7929.28
X 2 7940.46
X< 3 £936.72
X 4 7934.04

Question ID : 98958011253
Status : Answered
Chosen Option : 1

Q.1 Tl Igels F v BT 40 em ) Roda B & o Fr 7S 7.5 om 3T 8.6 cm § g #
02
TR FAT 7

Ans X1 434 em
v'2 322 em
/< 3 368 cm

2
2
el
< 4 288 cm?

Question ID : 98958011273
Status : Answered
Chosen Option : 2

Q1 & a7 X, Y 3t Z o &F & o Be-few e A, B 3t C oisa ¥ & w9 waen 20, 25 3t
3 WA IIFF RIS IR T TR OB F g o T A A A
TETS B &7 3T F4T grem?
Ans 4
p G
7
13

K2 =

23

3
Xt

Question ID : 98958011266
Status : Answered
Chosen Option : 3




%-; T FAY F F HT ORHERT 230 m HT FAT H FE 5 m #1 T750 /m2 F T § FAY Y S&EnT

oY TS FE T e TR @ gt
Ans 51 T 3,450

X2 ¥17,250

V'3 78,625

X 4 T4,312.50

Question ID : 98958011270
Status : Answered
Chosen Option : 3

%-51 f&m 71T 1T IF (bar graph), IF 2014 3T 2015 F T T w9 T IX FEEET ot &
e # (I #) R @ g g

f&w 77w o TF (bar graph) #, #F 3R Reet F 9= T R F aEw &
Ans X 1. 26 1 29

V2 31:36
X 323:25
X4 33:37

Question ID : 98958011287
Status : Answered
Chosen Option : 2

% JA++144 F AT FA T2
ans 114

X 21217

v 4

X4 3.74

Question ID : 98958011244
Status : Answered
Chosen Option: 3

%71 T (2x—5)°4 (x—4)%4+ (x—11)* =3 (2x — 5) (x — 4)(x —11) , °F x = AT FT 87

Ans X1- 3
V25
X3 7
X418

Question ID : 98958011274
Status : Answered
Chosen Option : 2




Q1 oig o1 & we A H AT 6 kmh F| TR 8 awr F Rpw # I F goen F o & el T A
08
TR AT HUF TET T § oA B Ay Fw gee

Ans X 1. 2.5 km/h
X 2 5 km/h
X 3 4.2 km/h
v 2 3.6 km/h

Question ID : 98958011267
Status : Answered
Chosen Option : 4

G % x 47 - {2 x (13 + 2))] AT W
Ans X1-
52
Vs
x40

Ul | = =

s}
| ra

Question ID : 98958011249
Status : Answered
Chosen Option : 3

%) T R F AT 2x - 3, x + 12, x - 1 &I Fe[F 7 wE@ 7 P07 &
ans K142
V2 83
X3 94
X 4 55

Question ID : 98958011280
Status : Answered
Chosen Option : 2

Q.1 21 R e TREeT & 8 BT & U &t §1 15 enfite 3§ INE=ar & fhde e # 9 e
11

Ans of1.11.2
X258
X393
X4 7

Question ID : 98958011263
Status : Answered
Chosen Option : 1

Q.1 ABCD v= = I & ol AB 50 R @ 300 I Us =@ §| 0T ADC = 130° ¥ & 07 BAC
12 e a2

Ans x1' 600
< 2 50°
< 3 180°




v 4 40°

Question ID : 98958011277
Status : Answered
Chosen Option : 4

Q.1

Ans “1_1

- X
w
SEN N -

13 (1 + cot291{1 - cosze] AT T 272

X 2 gfgenieg =g fFar sTar 2

Question ID : 98958011281
Status : Answered
Chosen Option: 1

Ans %1% 11,60,000
X 2 714,25,000
X3 715,80,000
v+ T 12,00,000

Cﬂ T IR FR T AT F 24% HOF FAT 3T F2ar § 3R 15% Fr g & #1 ofT oe
% 2,23,200 &, & FT F AT FET @O

Question ID : 98958011254
Status : Answered
Chosen Option : 4

Avs of 1 B2
X2 42
X< 3 38
X4 32

O afy a®— p*=416 T a-b = 8, A (a+b)? —ab AT T &?

Question ID : 98958011276
Status : Answered
Chosen Option: 1

16

Q.1 f&zr s AT IF (bar graph), 9§ 2014 3T 2015 F fBrv fdr Foar $ 98 FewedT emanst #
TR B (FART ) R @ g

Ane X1 prerehTaT
Jz.ﬁaé‘

few a1T SR T® (bar graph) A, 2014 & g F 2015 F Fia i aman F R # srfowow IR (% #H) §?




X5 fedh
X 4SS

Question ID : 98958011286
Status : Answered
Chosen Option : 2

‘3-71 fear =Tar 9 =@ (pie-chart), Yedes Wt T FUE H T AT 7w Fr gfEr F

=T (FOE /)

10

" TRt
" T
= 2
" g
LRE iy
BT

Ans 1. 21
X 2 49
X 3 56
v 77

T s7w 9% T (pie-chart) #, FrFe IR Feare W e v T F @9 F=AW A 2

Question ID : 98958011288
Status : Answered
Chosen Option : 4

18 ¥ afy 2APB = 70°, & 2OAB & FT §7?
Ans a1 9P

v 2 35°

<3 25°

< 4 50°

Q.1 &g O 7 TF goa F AT e R P W o o ar w9t @t PA #it PB §1 A 3 B 3eA W Ry

Question ID : 98958011278
Status : Answered
Chosen Option : 2

19

A 115 faee
X210 fee
X3 8 e
X4 21 e

Q.1 o oz 5 km/h 1 71y & 24 fee 7 399 W F T deor TG § AR A A a0 g wnfee
T 8 kmh H T F TT FT E| T F IOW AW H FEI wE

Question ID : 98958011268
Status : Answered
Chosen Option : 1

% 12 mF 3 cm Fay sfeg 2




Ans 1.0.025
v'2 0.25
X325
X 4 25

Question ID : 98958011255
Status : Answered
Chosen Option : 2

! T 55 & o 9 & 25 49 & Tome T 2
Ans K125

X210
X3 50
v 4 80

Q1 ve &7 # 50 4, 25 %9 AR 31 % WeH 5: 8 1 1 & 3993 # 1 7y waft Pyt 1 g $wrw

Question ID : 98958011259
Status : Answered
Chosen Option : 4

e K1 1648 m?
X2 4912 m3
X 3 2744 m3
v 4 5832 m3

% R v U F TS5 S9Fe 1944 m2 ¥, G sHEr AT &

Question ID : 98958011271
Status : Answered
Chosen Option : 4

Ans 1. gt (Cuboid)

% fafafaa & ¥ 5w o & gen 3w v ag

X 2 Fepofa ™=F (Triangular Prism)
X 3. gehoig BUfdE (Hexagonal pyramid)
X 4 =Jehelen (Tetrahedron)

Question ID : 98958011269
Status : Answered
Chosen Option: 1

Ans X 1. 6993
X 2 7056
X 3 6606
v 2 7083

Q-J 3 2, 9, 6 3T 5 T 3UT FI& FAT T b hr I 37 3T wEw S gt #wr daw
FT 2 (TeAF 3% F99 U & 9 UG & e §)?




Question ID : 98958011250
Status : Answered
Chosen Option : 4

Q.1 dmr ¥ war wh g5 v W, qfF & AR 60° 1 Fvr Femeh ¥ R @y w7 e fwr dAR F 10 m
2 =k @ wd B v A

Ais of 1.20 m
X240 m
X3173 m
<4346 m

Question ID : 98958011283
Status : Answered
Chosen Option: 1

%; frm O |, v 99 F BT 12% 9T 99 & T ¥ i dofeT owgfy = € 1,545 &7

Ans o1 ¥ 12,500
X 2 T 25,750
X 3 T 24,300
X 4 T12,875

Question ID : 98958011262
Status : Answered
Chosen Option : 1

%71 TF 9T 32 AT # vF ¥F o7 wear ¥ o F wner &F 48 me F o 9 €1 e ¥ s
m@ﬁwwﬁmmw

e o1 1 et 36 e
X2 1 ger 42 e
X3 1 der 20 fAee
X 41 ger 56 fBae

Question ID : 98958011265
Status : Answered
Chosen Option : 1

%-; e e & oars, i it F=E wAe 506 cm, 345 cm 3T 230 om ¥ wER oF Y & FErs
a0 A ew ¥ S AT AT ST HedT &

Ans o 123 cm
<215 em
<330 cm

< 4 46 cm

Question ID : 98958011246
Status : Answered
Chosen Option: 1

% TEar 30744, T 3 AT BRE WEET ¥ Sasw
Ane X1 5 3R 7  orEeR 3T Tl T




X2dgeaw 2, 3367
XeFdger2 3, 6397
V' 4 5 F SrEeT 37T gl g

Question ID : 98958011245
Status : Answered
Chosen Option : 4

Q.1 =7 8.25% =nf¥er \rumUT =aTsr 9% 3 9 & AT £2,64,000 F7 e frar smar ¥ =aer i ofir = gehe
30

Ans 1. % 65,340
< 2 321,780
<3 387,120
< 4 T 43,560

Question ID : 98958011261
Status : Answered
Chosen Option: 1

Q.1 vs gearR # 3iwg awaE= 30 °C | Ifg §eaig & 9get I At 1 aitwa ammeT 31 °C o, ar
31 Hoa? & 9w T &7 3T amEe F4r g@eme

Ans X 1.29.33 °C
X229 °C
<3285 °C
v+ 2867 °C

Question ID : 98958011251
Status : Answered
Chosen Option : 4

Q.1 #rr f3r =17 =% (line graph) 2t TRERT ¥ 7w =07 (fwst &) = o &
32

oBBEESTIBE3EEE555358

@ =1w @ (line graph) &, oy 9fER K & #ifd= a7 F 37,200 & T @ &, & 7" W
mﬁﬁmﬁﬁqﬁg’gﬁ?ﬁ?(wmﬁg%?mﬁwﬁﬁmaﬁﬁ,waﬁm#qpﬁmaﬁ)

Ans  of 1 50.7
X2 519
X3 438
X4 462

Question ID : 98958011291
Status : Answered
Chosen Option : 4

Q.1




33 Frr famm I T (line graph) 21 9RERT F @ftE smw (@wst &) @

m
1
150 +
B
i
%3- —  —— gftEm
- i m— __5" —=— giEwy |
# e
R — TH e
£ &8 £ &
&

few a1 amF (line graph) #, 9@ J 3R K ¥ v siew qur Ren & 69 § 99 # HJRW 7 g
Fm &7

Ans X 1.9 :2
X213:25
#<331:36
v 21:34

Question ID : 98958011293
Status : Answered
Chosen Option : 4

A ﬂ'ﬁ'x+i=4v§,?ﬁ'x2+$ AT &7 27?
Avs o146

<2 44

X3 56

< 4 52

Question ID : 98958011275
Status : Answered
Chosen Option: 1

%-51 T780516 2 :3:4:3% 3 # A B, C 3 D ¥ & aver 7ram g1 C & fgwww a7 82

Ans 1.7 1,30,086
v 2 260,172
X3 %2,24,562
X 4 %1,95,129

Question ID : 98958011260
Status : Answered
Chosen Option : 2

Q.1 i T aw M # D 3T E F7wn AF 3t AG % 7ew Rig €, F v G #oan AB 3T AC & e
3 fig #1 ofy DE = 2.4 cm & & BC 7= 71 7
A




V'3 96 cm
X< 4 3.6 cm

Question ID : 98958011279
Status : Answered
Chosen Option : 3

37

1

Ans x n 4;

1

&2 65
2
W 3 4;

4

< 4 e

Q1 A & zarar B & &t 7 § 3T B Fr gwmr C & RN §1 afy B 3wren vk w1 @ 15 Rt F 9w
THAT &, o A 3R C e =0 w2 & Fae R & @@ 6

Question ID : 98958011264
Status : Answered
Chosen Option : 3

Q1 A e 7R 3 @, 9 T W 24%, AR W 16%, Rl W 12% =g & ¥ 3w anr &=

38

T 1 AT T=a T 3,288 F, O A Fr A ama G @

Ans 176,654
X 2 76,480
X3 36,323
v+ 76,850

Question ID : 98958011257
Status : Answered
Chosen Option : 4

03-91 f&ar 7ar F T (pie-chart), Fed% T W FST 7 BT AT AT F AT B

=T (FOE H)

10

" TRk

LB o)

= 2EE

" g
n TFTTeFE
[ Bl

few arv w15 =E (pie-chart) #, g ’R SFTEcaw & 9= @@ & w747 §°

Ans 136 : 5
X216:9
X324 :17
X464:5

Question ID : 98958011290
Status : Answered
Chosen Option : 1




Q.1 71T 90 ¢cm x 75 cm = 50 cm & WY 2.5 cm AES ¥ TF 9¢ T 5O F W0 haet aaT

40 Fr oTFar FHr HFTFAr e

Ans X1 46720 em
v'2 69750 cm
3 49050 cm

3
3
3
<4 36170 cm?®

Question ID : 98958011272
Status : Answered
Chosen Option: 2

%11 #rr fg7r 7 WF (line graph) g TREART F AR =@ (FwE H) F g E

[e———
oBEBEEBIREIENEELTHES
=1

=" v

e

Y

#
&

faw atw arF (line graph) &, 9fET J 3t K & &= aied X eow & wfaesa & &4 3w 87

Ans X 1.13.7%
X2 14.9%
X 3 15.2%
v 12.6%

Question ID : 98958011292
Status : Not Answered
Chosen Option : --

% R 4tand = 3 § ar 203000 o o 0

5 sinf+3 cosd

Ans ( .

S
X 3.
y

0O ) Wk o=

Question ID : 98958011282
Status : Answered
Chosen Option: 1




fa@m T/ 1T I (bar graph), I 2014 3T 2015 F v el Foar $1 I” FAFEETLT gt &
TEIH (BT #H) R @ @=iar gl

faw 91T 9% T (bar graph) &, T 2014 3 2015 * = fsfr & ufgea iy $r wer Hfew
(v guFeT & qoifea Hfew)

Ans 1. 14.5
<2137
X< 314.9%
v 4 15.1%

Question ID : 98958011285
Status : Answered
Chosen Option : 4

fi: TS FEH AT T H I A% 500 m T 5 A H Far 7 R 7 e F AW A Aw §l I
g =mer (km/h) &

Ans 1. 1
X212
X3 25
vi5

Question ID : 98958011252
Status : Answered
Chosen Option : 4

351 w asfee e T 516 i @isfea & @m0 12 @sfehe A 2 129 5T wsfrer & gwaw = 3

wrsferer = &1 ey o 15 Wit wsforell ST AfE o1 wmet wierw 15% ¥ & wf wsfrer w0 75w
FT gem?

Ans X 1. T 2960
X< 2 3870
v 2 T 2580
X 4 T 4440

Question ID : 98958011258
Status : Not Answered
Chosen Option : --

Q.1 A 3R B v g & v& Ty T0 YF FA | 3o FSAl Y AT FAC: 72 cm A 84 em F1 7

* oA A gl T AT Teie ¥ FEAl F FET THEAT HET &
Ans X 1. 6.3 m

X227 m

X3 354 m

v 4 504 m

[ Question ID : 98958011247




Status : Answered
Chosen Option : 4

‘1-71 faar T Og =E (pie-chart), Yo% B W FAE H T T 7w #F gefar §

= (HEl H)

10

= e
= glehT
= EEE

u TR
" HT

few 777 9% = (pie-chart) #H, Feartar FF gl I FeaWs F FAT HIOT FAT FEM?
Ans X 1.722°

v'2 612°

X3 51°

X4 24°

Question ID : 98958011289
Status : Answered
Chosen Option : 2

Q1 =z gu v I3 &7 N I3 F T3 F 45 m Y 60° F FOT W HH F T wam 81 95 H A 59
48 FT g7 (V3=1.73 3T +2=1.41 T 3937 HfFT)

Ans X 1.153.45 m
X21413 m
V'3 167.85 m
X 413724 m

Question ID : 98958011284
Status : Answered
Chosen Option : 3

w9 7= {4 x3 - (-10) x 8 + (-4)} AT A F?
Ans 1. —1
X20
X 3 53
v 15

Question ID : 98958011248
Status : Answered
Chosen Option : 4

Q.1 &fer & «iftrg & 62, 3EET & 70, e & 74 3% g v g Baw & 3997 TP F9 2
s0 =fgw @ifer 58 For 68% o &7

Ans X 1. 67
X 2 65
V'3 66




< 4 68

Question ID : 98958011256
Status : Answered
Chosen Option : 3

Q.1

51 Select the synonym of the given word.

FAKE

Ans  of 1. false
< 2 real
< 3. factual
/< 4 genuine

Question ID : 98958011418
Status : Answered
Chosen Option : 1

0521 Select the most appropriate word to fill in the blank.

The Max Hospital is within easy reach the people living in Saket.

Ans X 1. to
< 2 at
v 3 of
< 4 from

Question ID : 98958011407
Status : Answered
Chosen Option : 1

Q.1 & -
53 Select the most appropriate word to fill in the blank.

If I meet him, T give him your message.

Ans 2 1. could
v 2 will
#< 3. should
< 4 would

Question ID : 98958011406
Status : Answered
Chosen Option : 2

Q.1 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
54 substitute it, select No improvement.

Ans o 1 all the equipment is put away
/< 2. No improvement.

/< 3. all the equipments have put away




75 4. all the equipment be putting away

Question ID : 98958011401
Status : Answered
Chosen Option: 3

05.; Select the most appropriate meaning of the given idiom.

a dog’s life
Ans 1. a restful life
/< 2. a life spent in guarding something
2 3 alife full of freedom
+ 4 a miserable existence

Question ID : 98958011427
Status : Answered
Chosen Option : 2

Q.1 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to

56 substitute it, select No improvement.

She has been suffering from malaria from the last four days.
Ans 1. of malaria from the last four days
« 2. from malaria for the last four days
/< 3. from malaria since the last four days

/< 4. No improvement.

Question ID : 98958011405
Status : Answered
Chosen Option : 2

°5'71 Select the most appropriate meaning of the given idiom.

in a nutshell
Ans 1. in serious trouble
#< 2. in control
« 3. in short
/< 4 indisgrace

Question ID : 98958011429
Status : Answered
Chosen Option : 3

Q.1 : T
g Select the antonym of the given word.

CONCENTRATED
Ans o 1. diluted

/< 2. strong

/< 3. potent




< 4 thick

Question ID : 98958011424
Status : Answered
Chosen Option : 1

°5'91 Select the synonym of the given word.

EXTRICATE
Ans X 1. delete

7% 2. intricate

o 3 remove

75 4 complicate

Question ID : 98958011420
Status : Answered
Chosen Option: 3

Q- 1 i 1
6(; Select the most appropriate word to fill in the blank.

Kavya picked up all the toysandput  ina box.
Ans X1 it

& 2 that

v 3. them

X 4 this

Question ID : 98958011409
Status : Answered
Chosen Option : 3

%-11 Identify the segment in the sentence, which contains the grammatical error.

This is the boy which took away the books.
Ans 1. This is

« 2. which took away

/< 3. the boy

#< 4. the books

Question ID : 98958011396
Status : Answered
Chosen Option : 2

Q.1
op Select the wrongly spelt word.

Ans 1. hospitable

v 2 humanitariun
/< 3. hasten
/< 4 hostile

Question ID : 98958011439
Status : Answered




l Chosen Option : 2

Q.1 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
63 substitute it, select No improvement.

Yesterday I saw my_brother to repair his friend’s bicycle.
Ans 1. my brother repairs his friend’s bicycle
« 2. my brother repair his friend’s bicycle
/< 3. my brother having repaired his friend’s bicvcle

/< 4 No improvement.

Question ID : 98958011402
Status : Answered
Chosen Option : 3

Q.1

s Select the most appropriate meaning of the given idiom.

Miss the boat

Ans 1. be too slow

7< 2. lose courage
75 3. accept defeat

« 4 lose an opportunity

Question ID : 98958011428
Status : Answered
Chosen Option : 4

%-51 Identify the segment in the sentence, which contains the grammatical error.

Hardly he had stepped out of the house when a tree fell on the roof.
Ans 2 1. out of
« 2 Hardly he had

/< 3. when a tree
7< 4 fell on the roof

Question ID : 98958011400
Status : Answered
Chosen Option: 2

Q.1

ce Select the most appropriate meaning of the given idiom.

A fish out of water
Ans 1. ready to die

/< 2. in the absence of something

« 3 inunfamiliar circumstances
7< 4 feeling sick

Question ID : 98958011430
Status : Answered




Chosen Option : 3 J

Q.1
67

Ans 1. fragmentation
< 2 frustrated
/< 3. fugitive
v 4 fundamantal

Select the wrongly spelt word.

Question ID : 98958011440
Status : Answered
Chosen Option : 4

Q.1
68

The new typist is

Ans of 1 as; as
/< 2 as; so
< 3. such; as
7% 4. so; that

efficient

Select the most appropriate word to fill in the blanks.

the previous one.

Question ID : 98958011408
Status : Answered
Chosen Option: 1

Comprehension:




Q.1
69

Ans

Read the following passage and answer the questions given after it.

At least 200 species of ‘mega fauna” are declining in number, finds
research. Humans® meat-eating habits may be pushing at least 150
species of the planet’s largest animals towards the threat of
extinction, a study has found. The research was published in the
journal Conservation Letters, Of nearly 300 species studied. 70 per
cent are in decline, and 59 per cent of the species are threatened with
disappearing from the globe, said William Ripple, a professor at the
Oregon State University in the US.

“Direct harvest for human consumption of meat or body parts is the
biggest danger to nearly all of the large species with threat data
available,” Ripple said. “Thus, minimising the direct killing of these
vertebrate animals is an important conservation tactic that might save
many of these iconic species as well as all of the contributions they
make to their ecosystems.” said Ripple.

Researchers were part of an international collaboration that built a list
of mega fauna based on body size and taxonomy — qualifying for
the list were species unusually large in comparison to other species in
the same class. The mass thresholds the researchers decided on were
100 kg for mammals, ray-finned fish and cartilaginous fish and 40 kg
for amphibians. birds and reptiles since species within these classes
are generally smaller.

Over the past 500 years, as humans’ ability to kill wildlife at a safe
distance has become highly refined. two per cent of mega fauna
species have gone extinct. For all sizes of vertebrates, the figure is
0.8 per cent. “Our results suggest we’re in the process of eating
mega fauna to extinction,” Ripple said. “Through the consumption of
various body parts. users of Asian traditional medicine also exert
heavy tolls on the largest species.” he said. “In the future, 70 per cent
will experience further population decline and 60 per cent of the
species could become extinct or very rare.” he added.

Nine mega fauna species have either gone extinet overall, or gone
extinet in all wild habitats, in the past 250 years, including two species
of giant tortoise, one of which disappeared in 2012, and two species
of deer. “In addition to intentional harvesting, a lot of land animals get
accidentally caught in snares and traps, and the same is true of
gillnets, trawls and longlines in aquatic systems.” Ripple said. “And
there’s also habitat degradation to contend with. When taken
together, these threats can have major negative cumulative effects on
vertebrate species.” he said.

SubQuestion No : 169

The theme of the passage is

X1 survival of vertebrates is important for the conservation of
* the ecosystem.
« 2 the human appetite is driving many animals to extinction

X3 animals are becoming extinct due to the destruction of their
habitat.
x4 over the last 500 years humans have become skillful in
~ killing animals

Question ID : 98958011443

Status : Answered




l Chosen Option : 3

Comprehension:
Read the following passage and answer the questions given after it.

At least 200 species of ‘mega fauna’ are declining in number, finds
research. Humans’ meat-eating habits may be pushing at least 150
species of the planet’s largest animals towards the threat of
extinction. a study has found. The research was published in the
journal Conservation Letters, Of nearly 300 species studied. 70 per
cent are in decline, and 59 per cent of the species are threatened with
disappearing from the globe, said William Ripple, a professor at the
Oregon State University in the US.

“Direct harvest for human consumption of meat or body parts is the
biggest danger to nearly all of the large species with threat data
available,” Ripple said. “Thus, minimising the direct killing of these
vertebrate animals is an important conservation tactic that might save
many of these iconic species as well as all of the confributions they
make to their ecosystems.” said Ripple.

Researchers were part of an international collaboration that built a list
of mega fauna based on body size and taxonomy — qualifying for
the list were species unusually large in comparison to other species in
the same class. The mass thresholds the researchers decided on were
100 kg for mammals, ray-finned fish and cartilaginous fish and 40 kg
for amphibians. birds and reptiles since species within these classes
are generally smaller.

Over the past 500 years, as humans’ ability to kill wildlife at a safe
distance has become highly refmed. two per cent of mega fauna
species have gone extinct. For all sizes of vertebrates, the figure is

0.8 per cent. “Our results suggest we’re in the process of eating
mega fauna to extinction,” Ripple said. “Through the consumption of
various body parts. users of Asian traditional medicine also exert
heavy tolls on the largest species.” he said. “In the future, 70 per cent
will experience further population decline and 60 per cent of the
species could become extinct or very rare.” he added.

Nine mega fauna species have either gone extinct overall, or gone
extinct in all wild habitats, in the past 250 years, including two species
of giant tortoise. one of which disappeared in 2012, and two species
of deer. “In addition to intentional harvesting, a lot of land animals get
accidentally caught in snares and traps, and the same is true of
gillnets, trawls and longlines in aquatic systems.” Ripple said. “And
there’s also habitat degradation to contend with. When taken
together, these threats can have major negative cumulative effects on
vertebrate species.” he said.

SubQuestion No : 170

Q.1 Thi i :
70 Which of the following falls in the 40 kg category?

Ans 3 1. cartilaginous fish

< 2 mammals
/< 3. ray-finned fish

« 4 amphibians

Question ID : 98958011444
Status : Answered




l Chosen Option : 4

Comprehension:
Read the following passage and answer the questions given after it.

At least 200 species of ‘mega fauna” are declining in number, finds
research. Humans’ meat-eating habits may be pushing at least 150
species of the planet’s largest animals towards the threat of
extinction. a study has found. The research was published in the
journal Conservation Letters, Of nearly 300 species studied. 70 per
cent are in decline, and 59 per cent of the species are threatened with
disappearing from the globe, said William Ripple, a professor at the
Oregon State University in the US.

“Direct harvest for human consumption of meat or body parts is the
biggest danger to nearly all of the large species with threat data
available,” Ripple said. “Thus, minimising the direct killing of these
vertebrate animals is an important conservation tactic that might save
many of these iconic species as well as all of the confributions they
make to their ecosystems.” said Ripple.

Researchers were part of an international collaboration that built a list
of mega fauna based on body size and taxonomy — qualifying for
the list were species unusually large in comparison to other species in
the same class. The mass thresholds the researchers decided on were
100 kg for mammals, ray-finned fish and cartilaginous fish and 40 kg
for amphibians. birds and reptiles since species within these classes
are generally smaller.

Over the past 500 years, as humans’ ability to kill wildlife at a safe
distance has become highly refmed. two per cent of mega fauna
species have gone extinct. For all sizes of vertebrates, the figure is

0.8 per cent. “Our results suggest we’re in the process of eating
mega fauna to extinction,” Ripple said. “Through the consumption of
various body parts. users of Asian traditional medicine also exert
heavy tolls on the largest species.” he said. “In the future, 70 per cent
will experience further population decline and 60 per cent of the
species could become extinct or very rare.” he added.

Nine mega fauna species have either gone extinct overall, or gone
extinct in all wild habitats, in the past 250 years, including two species
of giant tortoise. one of which disappeared in 2012, and two species
of deer. “In addition to intentional harvesting, a lot of land animals get
accidentally caught in snares and traps, and the same is true of
gillnets, trawls and longlines in aquatic systems.” Ripple said. “And
there’s also habitat degradation to contend with. When taken
together, these threats can have major negative cumulative effects on
vertebrate species.” he said.

SubQuestion No : 171

Q.1

5, How many species of mega fauna are facing extinction as a

result of the direct human consumption?
Ans 1. 200 species
/< 2. 250 species
/< 3. 300 species
' 4 150 species

Question ID : 98958011445




Status : Answered
Chosen Option : 4

Q.1
72

Comprehension:
Read the following passage and answer the questions given after it.

At least 200 species of ‘mega fauna’ are declining in number, finds
research. Humans’ meat-eating habits may be pushing at least 150
species of the planet’s largest animals towards the threat of
extinction, a study has found. The research was published in the
journal Conservation Letters, Of nearly 300 species studied, 70 per
cent are in decline, and 59 per cent of the species are threatened with
disappearing from the globe, said William Ripple, a professor at the
Oregon State University in the US.

“Direct harvest for human consumption of meat or body parts is the
biggest danger to nearly all of the large species with threat data
available,” Ripple said. “Thus. minimising the direct Killing of these
vertebrate animals is an important conservation tactic that might save
many of these iconic species as well as all of the contributions they
make to their ecosystems,” said Ripple.

Researchers were part of an international collaboration that built a list
of mega fauna based on body size and taxonomy — qualifying for
the list were species unusually large in comparison to other species in
the same class. The mass thresholds the researchers decided on were
100 kg for mammals, ray-finned fish and cartilaginous fish and 40 kg
for amphibians. birds and reptiles since species within these classes
are generally smaller.

Over the past 500 years, as humans’ ability to kill wildlife at a safe
distance has become highly refined, two per cent of mega fauna
species have gone extinct. For all sizes of vertebrates, the figure is

0.8 per cent. “Our results suggest we’re in the process of eating
mega fauna to extinction,” Ripple said. “Through the consumption of
various body parts, users of Asian traditional medicine also exert
heavy tolls on the largest species.” he said. “In the future, 70 per cent
will experience further population decline and 60 per cent of the
species could become extinct or very rare,” he added.

Nine mega fauna species have either gone extinct overall, or gone
extinet in all wild habitats, in the past 250 years, including two species
of giant tortoise, one of which disappeared in 2012, and two species
of deer. “In addition to intentional harvesting, a lot of land animals get
accidentally caught in snares and traps, and the same is true of
gillnets, trawls and longlines in aquatic systems,” Ripple said. “And
there’s also habitat degradation to contend with. When taken
together, these threats can have major negative cumulative effects on
vertebrate species,” he said.

SubQuestion No : 172

“Intentional harvesting” refers to

Ans X 1. killing of animals for one’s safety

/< 2. accidental killing of animals in traps and snares
« 3. the killing of animals deliberately

7% 4 killing of animals due to habitat degradation

Question ID : 98958011446




Status : Answered

Chosen Option : 4

Q.1
73

Ans

Comprehension:

Read the following passage and answer the questions given after it.

At least 200 species of ‘mega fauna’ are declining in number, finds
research. Humans’ meat-eating habits may be pushing at least 150
species of the planet’s largest animals towards the threat of
extinction, a study has found. The research was published in the
journal Conservation Letters, Of nearly 300 species studied, 70 per
cent are in decline, and 59 per cent of the species are threatened with
disappearing from the globe, said William Ripple, a professor at the
Oregon State University in the US.

“Direct harvest for human consumption of meat or body parts is the
biggest danger to nearly all of the large species with threat data
available,” Ripple said. “Thus. minimising the direct Killing of these
vertebrate animals is an important conservation tactic that might save
many of these iconic species as well as all of the contributions they
make to their ecosystems,” said Ripple.

Researchers were part of an international collaboration that built a list
of mega fauna based on body size and taxonomy — qualifying for
the list were species unusually large in comparison to other species in
the same class. The mass thresholds the researchers decided on were
100 kg for mammals, ray-finned fish and cartilaginous fish and 40 kg
for amphibians. birds and reptiles since species within these classes
are generally smaller.

Over the past 500 years, as humans’ ability to kill wildlife at a safe
distance has become highly refined, two per cent of mega fauna
species have gone extinct. For all sizes of vertebrates, the figure is

0.8 per cent. “Our results suggest we’re in the process of eating
mega fauna to extinction,” Ripple said. “Through the consumption of
various body parts, users of Asian traditional medicine also exert
heavy tolls on the largest species.” he said. “In the future, 70 per cent
will experience further population decline and 60 per cent of the
species could become extinct or very rare,” he added.

Nine mega fauna species have either gone extinct overall, or gone
extinet in all wild habitats, in the past 250 years, including two species
of giant tortoise, one of which disappeared in 2012, and two species
of deer. “In addition to intentional harvesting, a lot of land animals get
accidentally caught in snares and traps, and the same is true of
gillnets, trawls and longlines in aquatic systems,” Ripple said. “And
there’s also habitat degradation to contend with. When taken
together, these threats can have major negative cumulative effects on
vertebrate species,” he said.

SubQuestion No : 173

Which statement is NOT true according to the passage?

7 In the future, 80 per cent of the species could become
" extinct or very rare.

x 2 Of the 300 species studied, 59 per cent are threatened with
* disappearing from the globe.

Nine mega fauna species have gone extinct in the past 250

years.

X 3.




x4 Two per cent of mega fauna species have gone extinct due
* to killing by humans.

Question ID : 98958011447
Status : Not Answered
Chosen Option : --

9. Select the antonym of the given word.

ENIGMATIC
Ans % 1. ambiguous
/< 2. mysterious
' 3. straightforward

/< 4. inscrutable

Question ID : 98958011426
Status : Answered
Chosen Option : 3

3'; Select the most appropriate word for the given group of words.

extreme fear of water
Ans o 1. hydrophobia

7% 2. kleptomania

7% 3. claustrophobia

7< 4 insomnia

Question ID : 98958011434
Status : Answered
Chosen Option: 1

Q.1 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
76 substitute it, select No improvement.

He didn’t explain a great deal concerned the scheme though he spoke for a long time.

Ans 1. a great deal as concerning as the scheme
/< 2. No improvement.
« 3 a great deal concerning the scheme

/< 4. a great deal to be concerned the scheme

Question ID : 98958011403
Status : Not Answered
Chosen Option : --

371 Identify the segment in the sentence, which contains the grammatical error.

These stray cattles are roaming around the town.

Ans X 1. These
o 2. stray cattles




7% 3. the town.

/< 4. are roaming around

Question ID : 98958011397
Status : Answered
Chosen Option : 2

Q.1
7g Select the wrongly spelt word.

Ans X 1. dwelling
v 2. dwindel
#< 3. durable

< 4 dwarf

Question ID : 98958011437
Status : Answered
Chosen Option : 2

79

SUBSTITUTE
Ans  of 1. replace

&S 2. reserve
7< 3. displace
< 4 avoid

Q1 Select the synonym of the given word.

Question ID : 98958011419
Status : Answered
Chosen Option: 1

80
SOMBER

Ans x 1. grim
< 2. serious
/< 3 calm
v 4 cheerful

Q1 Select the antonym of the given word.

Question ID : 98958011423
Status : Answered
Chosen Option : 4

81

Ans  of 1. contented

/< 2. cooperative

#< 3. contentious
/< 4 contemplative

someone who is satisfied with life in general.

Q1 Select the most appropriate word for the given group of words.




Question ID : 98958011432
Status : Answered
Chosen Option: 1

Q.1 .
ap Select the synonym of the given word.

GRATUITOUS
Ans X 1. voluntary

X 2 confidential

o 3. grateful

/5 4. unnecessary

Question ID : 98958011421
Status : Answered
Chosen Option : 4

Q.1 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
83 substitute it, select No improvement.

Each person watching the procession was provided with a flag.

Ans X 1. to watching the procession
/< 2. having watched the procession was provided
+ 3 No improvement.

/< 4. watched the procession

Question ID : 98958011404
Status : Not Answered
Chosen Option : --

%‘: Select the most appropriate word for the given group of words.

a sum of money added to a person's wages as a reward for good performance.
Ans 1. wages
# 2 remuneration

/< 3. allowance
+ 4 bonus

Question ID : 98958011433
Status : Answered
Chosen Option : 2

% Select the most appropriate word to fill in the blank.
It is not safe for childrento  on the road.
Ans o1 plays
v 2. play
/< 3. played
& 4 playing




Question ID : 98958011410
Status : Answered
Chosen Option : 2

%-; Select the most appropriate word for the given group of words.

an apparatus for reducing or increasing the voltage of an alternating current.

Ans X 1. transonic
/< 2. transparent

/< 3. translucent
« 4 transformer

Question ID : 98958011435
Status : Answered
Chosen Option : 4

Q.1

a; Select the most appropriate meaning of the given idiom.

can't cut the mustard
Ans 1. to win a victory
« 2. to be unable to do a job

7< 3. to be successful
7% 4 to render a service

Question ID : 98958011431
Status : Answered
Chosen Option : 2

2 Select the antonym of the given word.

VIGOROUS

Ans X 1. enthusiastic
o 2. spiritless
/X 3. energetic

75 4 forceful

Question ID : 98958011425
Status : Answered
Chosen Option : 2

Q.1

ao Select the most appropriate word for the given group of words.

obsession with one particular thing
Ans 3 1. insomnia

/< 2. pyromania

v 3 monomania

/< 4. hypomania




Question ID : 98958011436

Status : Answered

Chosen Option : 3

. i,
%0 Select the synonym of the given word.
VAGABOND

Ans 2 1. tourist

7% 2. pilgrim

< 3. visitor

W 4 tramp

Question ID : 98958011417
Status : Answered
Chosen Option : 2
1 ;

%1 Select the wrongly spelt word.
Ans

X 1. exhibition
#< 2 exhausted
' 3. expanditure

/< 4. expansive

Question ID : 98958011441
Status : Answered
Chosen Option : 3

Q.1
92

Ans

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given. Select the most
appropriate option for each number.

The last mammoths., who were very large elephant-like animals, lived
as recently as 4.000 years ago. (1) their well-preserved
bodies can be (2)frozen in the tundra of Siberia. Because
(3) bodies were so well protected from decay (4)
the permafrost, their genetic material remained intact. (5) at
Harvard University are researching ways to bring the mammoth back

to life.
SubQuestion No : 192

Select the most appropriate option to fill in blank No.1.

v 1 But

& 2 And

< 3. Because
X 4 So

Question ID : 98958011412

Status : Answered

Chosen Option : 4

Comprehension:




In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given. Select the most
appropriate option for each number.

The last mammoths. who were very large elephant-like animals, lived
as recently as 4.000 years ago. (1) their well-preserved

bodies can be (2)frozen in the tundra of Siberia. Because
(3) bodies were so well protected from decay (4)
the permafrost, their genetic material remained intact. (5) at

Harvard University are researching ways to bring the mammoth back
to life.

SubQuestion No : 193

Q.1
93

Ans o 1. found
75 2. unearthed

7% 3. uncovered

< 4. got

Select the most appropriate option to fill in blank No.2.

Question ID : 98958011413
Status : Answered

Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given. Select the most
appropriate option for each number.

The last mammoths, who were very large elephant-like animals, lived
as recently as 4.000 years ago. (1) their well-preserved
bodies can be (2)frozen in the tundra of Siberia. Because

(3) bodies were so well protected from decay (4)
the permafrost, their genetic material remained intact. (5) at
Harvard University are researching ways to bring the mammoth back
to life.

SubQuestion No : 194

Q1 Select the most appropriate option to fill in blank No.3,

94

Ans  of 1. their
& 2 them
/< 3. they
X 4 its

Question ID : 98958011414
Status : Answered
Chosen Option : 1

Comprehension:




In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given. Select the most
appropriate option for each number.

The last mammoths. who were very large elephant-like animals, lived
as recently as 4.000 years ago. (1) their well-preserved

bodies can be (2)frozen in the tundra of Siberia. Because
(3) bodies were so well protected from decay (4)
the permafrost, their genetic material remained intact. (5) at

Harvard University are researching ways to bring the mammoth back
to life.

SubQuestion No : 195

Q.1 M- - -
o5 Select the most appropriate option to fill in blank No.4.

Ans X 1. at
V2 in
&3 on
X 4 from

Question ID : 98958011415
Status : Answered
Chosen Option : 2

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given. Select the most
appropriate option for each number.

The last mammoths, who were very large elephant-like animals, lived
as recently as 4.000 years ago. (1) their well-preserved
bodies can be (2)frozen in the tundra of Siberia. Because

(3) bodies were so well protected from decay (4
the permafrost, their genetic material remained intact. (5) at
Harvard University are researching ways to bring the mammoth back
to life.

SubQuestion No : 196

Q.1
96

Ans X 1. Doctors
W 2. Scientists
/< 3. Investigators

/< 4 Engineers

Select the most appropriate option to fill in blank No.5.

Question ID : 98958011416
Status : Answered
Chosen Option : 2

Q. Select the antonym of the given word.

HIDEOUS
fre K1 ugly
75 2. grim




X 3 ideal
« 4 charming

Question ID : 98958011422
Status : Answered
Chosen Option : 4

Ans 3 1. the answers
7% 2. Twas not
7% 3. able to solve

+ 4 was not knowing

%; Identify the segment in the sentence, which contains the grammatical error.

I was not able to solve the questions as I was not knowing the answers.

Question ID : 98958011398
Status : Answered
Chosen Option : 4

Ans X" 1. T cannot

/< 2. get the loan
v 3. do not

/< 4. setup

Until I do not get the loan, I cannot set up my business.

%; Identify the segment in the sentence, which contains the grammatical error.

Question ID : 98958011399
Status : Answered
Chosen Option : 3

Ans 1. blossom
2 blight

v 3. blizaard
75 4. blessing

Q.2
oo Select the wrongly spelt word.

Question ID : 98958011438
Status : Answered
Chosen Option : 3




